BAI ON TAP TOAN SONG NGU'
Khong g6 dau cdch khi dién ddp dn!
Task 1: (0.5pt) Write number:

- Five hundred sixty nine million, three thousand, four hundred and forty-four:

.................................

Task 2: (0.5pt) What century does the year 1789 fall in?
T b. 18" c. 19 d. 20"
Task 3: (0.5pt) Givena=2245 ; b=1357 ; c¢=3205.
The value of expressiona+b—-cis: ...........
Task 4: (0.5pt) Arrange the following numbers from the least to the greatest:
64565449 ; 9654594 ; 62565494 ; 9956 544
Task 5: (0.5pt) The arithmetic mean of two numbers is 100. The first number is 90.
The second number is: .............

Task 6: (0.5pt) The arithmetic mean of 1232; 213; 1241; 122; 232 is: ............
Task 7: (0.75pt)
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Given 3 triangles: ABC, MNP and DEG. Name the triangle(s) that has:

- Anobtuse angle: .........

- A right angle: ........
- Three accute angles: .........
Task 8: (0.5pt) In the figure below, there are: D'\\M
- e pair(s) of perpendicular line: ™~ ~
= e pair(s) of non-perpendicular line: E]l x“"‘*«,.G
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Task 9: (0.75pt) Knowing that m +n =110 and m — n = 100.
Vahigof I%0 1 cousaes

Task 10: (1pt) Fill the smallest suitable number in the blanks:
167 minutes < .... hour(s)
188 seconds < .... minute(s)

Task 11: (1.5pt) Calculate in the simplest way:

135+64+65+ 136 122 -12+ 178 — 88

Task 12: (1.5pt) A dog and a cat weigh 6kg 80g in total. The dog is 4kg heavier than the cat.
How many grams does each of them weigh?

Answer: Cat : g
Dog : g

Task 13: (1.5pt) Mr.Ba harvests rice from 2 fields. Both fields have 2 quintals 50kg of rice.
The first field has 50 more kilogams of rice than the second field. How many kg of rice does
Mr.Ba harvest from each field?

Answer: The first field: kg
The second field: kg
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